Exam | Post Summary

There are 20 parts to the Exam. Questions 1-4 are each worth 1
part followed by Questions 5-8 each worth 4 parts a piece.

As the instructions stated, you needed to show your work, explain
your answers, and use graphs, diagrams, and/or tables to explain/
discuss your results. You also needed to discuss/compare/contrast
your results and recommendations to receive full credit. | did my
best to give partial credit when | could, but keep in mind correct
answers are the only way to receive full credit.

These solutions provide a basic set of correct answers and minimal
dialogue to accompany those answers.

Please peruse these solutions and then if there is still confusion
email with a specific question.


John F. Kros
Exam I Post Summary

There are 20 parts to the Exam.  Questions 1-4 are each worth 1 part followed by Questions 5-8 each worth 4 parts a piece.

As the instructions stated, you needed to show your work, explain your answers, and use graphs, diagrams, and/or tables to explain/discuss your results.  You also needed to discuss/compare/contrast your results and recommendations to receive full credit.  I did my best to give partial credit when I could, but keep in mind correct answers are the only way to receive full credit.

These solutions provide a basic set of correct answers and minimal dialogue to accompany those answers.

Please peruse these solutions and then if there is still confusion email with a specific question.


OMGT3123 Exam I

Answer all problems as fully as possible. Use graphs, diagrams, and/or tables to
explain your thinking. Show all your work do not assume your client knows the
answer.

Briefly (two or three sentences) compare the ideas and people behind the old
school operations management and new school operations management

Old school operations management believed in more
throughput the better (i.e., Scientific Management like
Taylor). New school operations management is more
based around the premise of quality following the
ideas of Shewhart and Deming.

Give a definition of what Operations Management is.

A set of activities that creates goods and services
through the transformation of inputs and outputs.

How does product quality differ from service quality? Give a brief explanation
and example.

Product quality tends to be very tangible. You can
literally feel or see it. Service quality tends to be more
intangible and difficult to measure. Service quality
tends to be the totality of the physical, the
physiological, and the psychological aspects of the
experience.

What is mass customization and give an example?

Mass customization is akin to mass production with
the ability to customize to a customer’s tastes. A good
example of this is desk top computers. The base
model is pretty much the same but a customer could
add memory or other features. When Dell was at its
height in the industry they were famous for this
concept.
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Answer all problems as fully as possnble Use graphs dlagrams and/or tables to
explain your thinking. Shaw : dg 5 - 5 the
answer.

5. From time-to-tilne,-outsrde1esTing services are usgt wie ETITC. s testing

center is overloaded. Jimmy Ahdoot, the Operauons Manager, must make a
decision on which of two testing centers is a better deal. Center | charges a flat
fee of $2,000 plus $600 for every hour of testing done. Center 2 charges a much
higher flat fee of $10,000, but only charges $20 for every hour of testing done.

QDWNL E(D\){ - ’ (}mﬁ&)& Jirimy has estimated that when ogltside tgesting services must be used, the testing
center is overloaded, on average, by about 15 hours, give or take 4 hours. In

590 )( = &DDD general, Jimmy attempts to keep outside testing to a minimum and needs to decide
‘)( = RO~ on which outside service to go with. Help Jimmy understand the two plans,

specifically, the trade-offs and risks involved (HINT: A cost/volume break-

6&0 analysis would be a good idea). W
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OMGT3123 Exam I

Answer all problems as fully as possible. Use graphs, diagrams, and/or tables to
explain your thinking. Show all your work do not assume your client knows the
answer.

6. The visibility standard index (VSI) is a measure of solder on a circuit board that is
reported each day. The index ranges from 20 (not enough) to 180 (very bad).
Suppose that for eight days the VSI was observed three times each day. Based on
this date an x-Bar chart was constructed and is displayed in Figure I.1.

a. Identify all out-of-control signals (high or low) that you find in the chart.
b. Explain what else an operations manager would need to completely
understand if the VSI was in control or out of control?* ALSD ’ N w 5, O\ 0-(?
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OMGT3123 Exam I

Answer all problems as fully as possible. Use graphs, diagrams, and/or tables to
explain your thinking. Show all your work do not assume your client knows the
answer.

7. Tina department needs to service 3,000 calls per 40-hour workweek (i.e., Tina’s
desired cycle time is 0.8 min). The process of servicing calls can be broken down
into the six stations listed above. The precedence and time requirements for each
element are as follows in Table 1.2. Tina needs to draw and label a precedence
diagram for the service process. Finally, she needs to balance the line, calculate

the efficiency of the line, and identify where and how much id,%:_ﬁme—eﬁiaia. — 7/

Table 1.2 — Precedence and Time RequirementsH P Pﬂ@a LQM
R

Work Element | Predecessor | Performance Time (rhin)

A-Receive Call - 0.1

B-Route Call A 03

C-Tag Call A 0.5

D-Start Form G - 02

E-Fill in Box 22 C,D 06
F-Advise Call B,E b | —
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OMGT3123 Exam I

Answer all problems as fully as possible. Use graphs, diagrams, and/or tables to
explain your thinking. Show all your work do not assume your client knows the
answer.

8. Clem is in the process of setting up facility space for a call-in service center for
( ~ . .—qustomers having difficulties with their modems. The service center has six
‘\’g % tations. The current layout in the space is as shown in Figure 1.1. The
4‘ V Kﬂv nticipated flow of customer calls that will be passed between each station is
iven in Table 1.1. Clem must revise the current layout so non-adjacent loads are

/RU I3 ILD% inimized and calls, paperwork, and employees move efficiently. Nonadjacent
—106ads cost the company $2 whereas, adjacent loads cost the company only $1.

R

Figure 1.1 — Current Layout Table 1.1 - Load Summary
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